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Four possible solutions (posNumsSoFar is initialized as frue):
1. Scan the entire array and accumulate the result.

for (int 1 =<§;9§_§ ns.length; i ++) “
pos r@posNumsSoFar & ns[i] > 0; }

@Scan the entire array but the result is not accumulative.

for 0;) i ~nsJtemgth; 1 ++) {
/+* Not working. Why? */

@ The result is accumulative-untitthe-early-exit point.

for (int 1 = 0; osNumsSo@(&M ns. Ior{n@ i ++) |

posNumsSoFar = poS sSoFa ns[(i] > 0; }

he result is not accumulative until the early exit point.

for (int 1 = 0; posNumsSoM.le@ i ++) |
071 7

posNumsSoFar =

ns >
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Scanner input = new Scanner (System.in);

int[] ns = new int[howMany];

for(int i = 0; i < howMany; 1 ++) {

v
System.out.println("How many integers?");
int howMany = input.nextInt(); ‘3 T& &\SE 1; ~

System.out.println("Enter an integer");

ns[i] = input.nextInt(); } /[est &.SQ ‘2;&%/

System.out.println("Enter an index:");

|in @ = input.nextInt Q;—\ §

it(ns@T s 2 == 0) 1
System.out.println("Element at index " + i + " is even.");

}

else { /* Error ' ns[i] 1s odd =/ }
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Scanner input = new Scanner (System.1in);

System.out.println("How many integers?");

int howMany = input.nextInt();

int[] ns = new int[howMany];

for(int i = 0; i < howMany; 1 ++) {
System.out.println("Enter an integer");
ns[i] = input.nextInt(); }

("Enter an index:");
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Scanner input = new Scanner (System.1in);
System.out.println("How many integers?");
int howMany = input.nextInt();

int[] ns = new int[howMany];

for(int 1 = 0; 1 < howMany; 1 ++) {
System.out.println("Enter an integer");
ns(i] = input.nextInt(); }

System.out.println("Enter gn index:");

or odd ns[i] =/ }
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+ " at index " + i + " is even."); }
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Scanner input = new Scanner (System.in);

System.out.println("How many integers?");

int howMany = input.nextInt();

int[] ns = new int[howMany];

for(int i = 0; i < howMany; 1 ++) {
System.out. println("Enter an integer");
ns[i] = input.nextInt(

System out.println( "Enter an index:")

|1nt nput nextlI
x@ |1f < ns.length) && nS[l]

)

println(ns 1] + " at index " + 1 + " is ‘even.
else { /* Error: invalid index or odd ns[i]

*/
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for(int - = 0;(1 < a.length{

(int ; § < alength; j ++) |

b}
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forfint (i ,= i <{a.len ;o 1 {

—~for(int j = 0; j <[a.lengt F o++) |

System.out.println(" (" + 1 + ", " + j +
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/% Version 1 with redundant scan x*/
int[] a = {1, 2, 3}; /* no duplicates #*/

boolean hasDup = false;
for(int i = 0; i < a.length;

hasDup = hasDup
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@ for(int j = 0; j < a.
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